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A101 |FI%RBBIERERE 0.61 0.63 0.64 0.64 0.64 0.59 (mg/L) REBISTEE A REBIETUEDL 1106
A102 |BRANECRYEEEKEEEILR 40.0 40.0 30.0 10.0 10.0 10.0 &, (ff ) 2-AFILA YRILEA =)L (BAHCRYEERE KEEEE) x 100 1105
A103 |#8 N/ \OXY BEKERE R 33.0 22.0 17.0 18.0 37.0 27.0 (%) (Z HBIKIR DR NN RS $a7KASE) / FKEER%EBX 100 1107
A104 |BH4 (TOC) IBE/KBEELR 43.3 33.3 33.3 30.0 36.7 30.0 (%) (2 #kieDEHM (TOC) SRR #aKieER) / KEEEEX 100 1108
DRZDLRUCGZEDEEN KR
Z . A105 | EREREKEEEIR 0.0 0.0 0.0 0.0 0.0 0.0 (&, (5:)@%) fé ;;mgig%zzgzoig (2 KR UZESBIEE H/kieE) / KEE%Ex 100 1110
T - — &U:%Omé%/jﬁ:ﬁamf\ﬁ
R =1 A106 SEEAEREKERAELR 29.5 30.0 30.3 31.7 28.9 28.5 e, (0;‘)5 &) rz;"/'jA‘ Mt (3 $AIKAR DM I BRI #AKISER) / KEEHEAEX 100 1111
% : Iziﬁﬂsﬁ“x?: S RSOR=-1,2
X (8, EES) —yagmi—_ﬂ/*j zooOx _ “
A107 |BHLEYMEERE KEREREER 0.0 0.0 0.0 0.0 0.0 0.0 (%) &> FRSOOOIFLY b (S RKEOUZECSIERE B/kieE) / KEEEEx 100 1113
DoOoOIFL>y R
1,4-SAFH>
A108 |HEBEIERYIEE KERESEER 26.7 16.7 16.7 16.7 20.0 20.0 (&, ff ) OO0/ (2 HBKIR DM H B I FRER 7K 8) / KER%EBX 100 1114
HEs% N
= A203 |EKtEIRSEER 0.0 0.0 0.0 50.0 100.0 100.0 (%) (SRR LIR/KENSE / BUKEMSE) x 100 5002
B104 |HEsSFIFAER 94.8 95.0 92.5 92.1 95.4 96.2 (%) (—BTBK R/ E%EE ) x 100 3019
B105 ERAHRER 99.4 102.1 98.8 98.5 98.9 99.0 (%) (—BERABUKER/HEREE) x 100 3020
B106 & 95.4 93.0 93.6 93.5 96.4 97.2 (%) (—BTEkE/—BRARIKE)x 100 3021
B108 |EIRSEK 22.4 22.4 26.9 22.4 25.4 56.7 (%) (R UBRER / BRER) x 100 5111
MEs% | B109 JULT ik 23.5 31.7 27.4 35.9 29.9 50.0 (%) (B U/ ULTE / JULT5RES) x 100 AR
B | B110 |Fk= 0.0 0.0 0.0 0.0 0.0 0.0 (%) (FRIRKE / ERIEUKE) x 100 5107
Blll A= 100.0 100.0 100.0 100.0 100.0 100.0 (%) (FERIEIKE / FERIBIKE) x 100 AR
B112 AUIXXE 99.9 99.9 99.9 99.9 99.9 100.0 (%) (R S/ ERIBLAE)x 100 3018
B113 |Ee/AKthETERHES 0.19 0.18 0.17 0.16 0.16 0.16 (=) BKtEMS R/ — B FIIRkE 2004
EE B117 |:&fRmARsEMER 81.6 89.2 100.0 93.2 93.2 93.2 (%) (FRIRHLES Y Mk - BB - STEEHEERDAEHER) x 100 5110
B B204 |EIROBHIIS 1.5 0.0 3.0 3.0 3.0 0.0 (#£/100 km) BB /( EIHEE/100) 5103
%g B205 E#EIROBHEIS 1.5 0.0 3.0 3.0 3.0 0.0 (#4/100 km) HEEROBHFL/ (BN ERILE/100) 2202
- ;;; B206 \#HREOBHIIS 1.5 0.0 3.0 3.0 3.0 0.0 (#4/100 km) PREWDOBHUFER / (REWILE/100) 5104
= B210 |SKEXRINEEMEIEL 4 5 3 4 4 4 ([E,/£F) FRIDKEX SRIIRER R AR
L B301 Ei/KE1m3 HizDEBIHES 0.03 0.03 0.03 0.03 0.03 0.03 (kwh/m’) | B%EF2HTRR BHERAROAS / EREUKE 4001
= B302 |EKE1m3 HIEDHEEIRILF— 0.12 0.12 0.12 0.11 0.11 0.11 (MI/m?3) IR —HEE / FHEKE 4002
) e B303 Bk 1ms3 ito:ﬁ%ﬁi 16 15 14 13 13 13289 (g - COy/m?) [CEbiRSR (CO2) HutiE / FERIBKE] x 10° 4006
D POE (CO,) HEH=E
fit B304 B4AEFBEIRILF—FIRR 0.000 0.000 0.000 0.000 0.000 0.000 (%) B 22U (BERRTRILF —REOBNERE / SHEEROBNEAE) x 100 4003
& B306 ESREIEMD YA IR 100.0 100.0 100.0 38.6 100.0 100.0 (%) (U DILSNIZRREIENE / BREIEMRLES) x 100 4005
5% | B401 |5 041 )LEEKE - IEX 100.0 100.0 100.0 100.0 100.0 100.0 (%) [(FOFAIVBHEIEE + MEER) / BWIER] x 100 5102
B | B402 |BIROITRE 1.49 0.00 0.00 0.00 0.00 0.00 (%) (FTR BRI R/ EIRIER) < 100 2107
B502 |AEMAHLEBBRHE 46.1 52.7 58.1 58.1 51.4 47.3 (%) :;fmgﬁif;;:fz?ﬁfi 'lffg%maméﬁ” 2102

1/3R=2 (BB KERMHAR L5 —



PIGtE{E

ER30FERE | [ITEE | [Il2EE | DIBEE | Dil4FEE | HIlcEE i e =
Shos| 22| 22| G bz PIStEME | PIEtEfE | PIEtEM@E | PEtEE | PIEEE zl?r:%tﬂﬁ e W Gt i
W3 | B503 |EEMAEBBSTR 0.0 0.0 0.0 0.0 0.0 0.3 (%) (EEMAEAERZ TU\3 EIES/SIIEE)x 100 2103
¥ | Bsos mmOBFE 0.00 0.00 0.00 0.00 0.00 0.00 (%) (BF SN BRI S/ EHEE) x 100 2104
13 B505 |EIDEER 0.000 0.000 0.000 0.000 0.000 0.000 (%) (B4 SN EWIEE/SIER)x 100 2105
el B603 |7K> THRODME(LE 0.0 0.0 0.0 0.0 0.0 0.0 (%) (RO TR T, MR SRS TPiEER) x 100 | 2208
B604 |EL/KtDME(LER 0.0 0.0 0.0 0.0 100.0 100.0 (%) (B E DS N B A NS R/ BN SENER) x 100 2209
iz B605 | EWOMEER 40.3 40.3 40.3 40.3 40.3 40.3 (%) (MBS SIIEE)x 100 2210
;;; B606 EREWOMEEER 40.3 40.3 40.3 40.3 40.3 40.3 (%) (HSHEBEOS SMHEEES/ESEHIEE)x 100 i
B606-2 S EBOME B X 77.6 77.6 77.6 77.6 77.6 77.6 (%) (HSHEBDS SMHEEA DS 3 BIRIEE/HSEEIER)x 100 AR
B608 |(SmIsH kK RiER 17.6 17.2 14.7 6.6 9.9 0.0 (%) (DR TR T = BEUKAS S/ — BB E) x 100 2216
C101 |BZUNTILR 114.3 108.3 101.1 113.4 102.5 98.5 (%) [(EEUN2— SETBN) / (SEEA - SHETSH) |x 100 3001
C102 [#EHINSZIER 117.5 112.2 105.9 116.9 106.0 102.0 (%) [(EES2URZE + BEEOMINGS )/ (BB + B O BA) ] x 100 3002
C103 |#uURZ L= 117.7 111.1 105.8 116.1 106.3 102.9 (%) (HAUN2S/#3EEF) x 100 3003
C104 RERESIE 0.0 0.0 0.0 0.0 0.0 0.0 (%) [RAERIES/ (HEINZ - S TEINZ)]x 100 3004
C105 #BASILE (NZSHIURASY) 0.1 0.0 0.0 0.0 0.0 0.0 (%) (IB2EEVERRA S/ INZSHIIA ) x 100 3005
C106 BASLILE (BAMIUIAS) 32.0 48.7 60.9 36.8 35.8 32.4 (%) (BABERAS/EANIIAE)x 100 3006
C107 BB — A= DIA7KINGS 216,510 | 185,467 | 218,435 | 225245 | 250,570 211,891 (FR/AN) $EOKINES /BB PR R S A 3007
C108 [#a/KINZS (T3 o BWERSEDIE 4.4 5.2 4.5 3.9 3.7 4.0 (%) (BEH 5 B/ 157KINZE) x 100 3008
C109 [#A/KINZS (T3 B2 ENBDEE 0.6 0.5 1.3 1.1 1.0 0.9 (%) ((SEEAERIS,/#7KIRAS ) X 100 3009
C110 [#A7KINZS (T34 T BIEHENE DS 17.5 18.8 21.1 20.0 20.7 21.0 (%) (RATEHEDER /47K UNZE) x 100 3010
C111 f* ”iéfffﬁéizﬁa@@tmm 6.5 6.2 6.0 6.9 7.4 7.6 (%) (BB HOEEFEETS/EKINE)x 100 3011
P, fge PEEEERTEDES
BE | c112 [skNzEIcd T3 REERSOES | 109.8 112.2 96.1 86.9 83.0 79.8 (%) (R 1EKINES) x 100 3012
C113 REEIRE 118.1 112.5 106.0 117.7 106.2 102.0 (%) (HHAET/ 487K BT x 100 3013
Cl14 [{HH4ABME 173.5 164.7 168.5 169.0 161.7 152.6 (F/m?) $EOKINES /R BUUK R 3014
;’i C115 |#A7KEH 146.9 146.4 159.0 143.6 152.3 149.6 (F3/m3) ;i%fﬁ_}fjﬁii;gﬁ:ﬁg%ﬁmﬁ+ WEEREY | 3015
£ C118 |H#ItL= 1364.6 1021.5 1250.1 1102.0 1068.7 928.9 (%) (RENERE/FBHEE) X 100 3022
= C119 HCBEAMBRLER 84.0 84.0 85.0 85.9 86.7 87.2 (%) [(BAS+EISE + MR & +EHEIN)/ B - BAA5]x 100 | 3023
C120 EEtE® 97.8 95.3 92.5 90.5 90.2 89.3 (%) (BTG (BAS+ FIRE + TMELER & +EBENES) | x 100 3024
E C121 |(EEEETE RS E S 46.3 41.8 39.7 44.5 45.3 46.0 (%) %;iaﬁ@r FOPERARELE/(SFRRMANA-RINEER | 3075
C122 EE&mEEns 0.17 0.16 0.18 0.19 0.18 0.18 (@) (BN — SHETBIGS)/ [(PEEEEE + PAREEEE)/2] 3026
C123 EEBEMANE 11.0 26.7 30.4 30.1 29.2 30.3 (m3/5m) ERIUKER /AT ETEE 3027
C124 BB— A%z DHIVKE 1,248,000 | 1,126,000 | 1,297,000 | 1,332,000 | 1,549,000 | 1,389,000 (m3/A) BEOMZMHERA ERIABIVKE / BRE R E L 3109
C201 |7KisifiliICRI o 2 BIREUSE 4.00 3.62 4.30 4.25 4.24 3.55 [CN) S HEEL TV BAERINCRI T 2 Eiaay / SHE 3101
C202 |HEBEHERSRS 13.9 7.0 5.4 21.8 20.4 13.6 (BERI/A) (BENIEBTHEE TR SHBAL) / 2SR 3103
2 C203 | PUBBEHMEESRS 8.7 1.4 1.0 1.2 1.4 1.2 (B5RI/ ) (BB PIEIHEE ST BRI SHBAL) / 2WE 3104
we | c204 | pmER 55.6 52.4 55.0 44.4 50.0 55.0 (%) (iE S / 2HE) x 100 3105
M T o0 | Es R 18.6 15.9 17.3 17.4 0.9 0.8 (/) S KB LTSEEREL | 2HEN 3106
C206 |EBHREEL 0 0 (A-B) s (ERBHTRESN < HED) 6001
C207 ERHHBAEL 0 0 (A-B) > (ERHBHZAES x HEAL) 6101
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